boasiid| >Vl Lc
(020) e Aadl

(010) bl il yaa 1

13,46+ 84,5 + 520 = 617,96 (L2,5)
804,7 — 76,25 = 728,45 (L2,5)
35,46 X 96,8 = 3432,528 (v2,5)
154,56 ~ 4,2 = 36,8 (12,5)
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(117 km x 60 min ) + 36 km /h= 195 min= 3h 25 min
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2,5m 135 mm= 263,5 cm (©2)
48ha206a== 686 dam? (©2)
71,09t 113 kg= 712,03 q (¢2)
0, m*2,51= 10250 «cl (©2)
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75cm 51 0,75 m: 2 meall Jala elall g5 )
720hl = 72m?
72 m? + (12 m x 8§ m) =0,75 m=75 cm
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13,46+ 84,5 + 520 154,56 + 4,2

804,7 — 76,25 35,46 X 96,8
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o — ¢ 4,70 3 4,09 3 4 3 4,79 3
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(08) A sthdl saa gl M Jss (5

2,5m135mm = ..., cm
4,8ha206a = ..o dam?2
71,09t 113 KG = e q
0,1mM3 251 = (e, cl
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